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29. 
������� �� 
��	���	� � �
��� �
 ����������, ����������� ����	���
.
(� 
���) 
���
�
���
 ��
	
���� �� ����
��


� ���
��: �� 10 �. 30 	��. �� 12 �. 15 	��. – 105 	����� – (1 �
���)  
� �
�����
�: �� 10 �. 30 	��. �� 11 �. 40 	��. – 70 	�����  – (1 �
���)

���
�
���
 ��
	
���� �� ����
��
  � �����
 – 7
4

� 7
6

����  – (1 �
���)

���
�
���: ��� �������� �
��
����
 �� ��
	
���� 
� ����
��
 � �����
, �


�
��
����
�� �	 � 	�����  �
 ��������� 3 �
���  

(�� 
���) 
����� 	���	.
�
�������
 �� ��������� � ���
�� � � � ���
�
���
 ���������  
(� + 7)  � �
�����
�   
                                          – (1 �
���)

���
�
���
 �� �
	������ ���  7
4
x � ( )7 7

6
x +            – (2 �
���)

��������
 �� �����
��
 ( )7 77
6 4

xx + = � ��
����
�� 	� ��  

���� 2 14 3x x+ =                                                           – (2 �
���)
��	����
 �� ��������� � ���
�� � = 14 km/h ��� ��������� � �
�����
�

7 21x + =                                                                            – (1 �
���)
��	����
 �� ����  24,5 km                                              – (1 �
���)

��
��  	���	. 
�
�������
 �� �
	������ ���  � �                                – (1 �
���)
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�
���
 ���������
 � �
�����
�  � � ���
�� 6
7
x � 4

7
x          – (2 �
���)

��������
 �� �����
��
 6 4 7
7 7
x x− =                           – (2 �
���)

��	����
 �� ����  24,5 km                                             – (2 �
���)
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- 
 ���������  �
��� � ���
�
���
 �� ��
	
����, �� ������
���� �����
��
 

�������� ����	� ���� ���
�
�
���
 ��
	
��; �����
��
�� 
 �
�
�� ����� �
�����
���� �
�
��
 
 �	���
�� ����	� ������
�� �� 
�������; 

!�� �������� �� ���
�
�
�� ��
	
���� � �����
 – 7
4

� 7
6

����; �

 �� 
 ��
	���� 
���

��, ��
� ������ �
 ��
���� � 3 �
��� (������� �
 ������
 �� 
��� �). 
!�� 
 ������
�� �����
��
 � ��
����� 	
��� 
������, �����	
� 105� = 70 (� + 7), ��
�

������ �
 ��
���� � 1 �
��� � �
 
������ ���������
 ����� 2 �
��� ��� �������� �
�
��
�����
��
, ��� �����
���� �� ���� �	������ �� ����� �� ������
�� �� 
�������.  

30. 
������� �� 
��	���	� � �
��� �
 ����������, ����������� ����	���
.
(� 
���) 

"� �����������
� �
��
�, ���#���
��� ������
�, N � H,  
�� �����$� �� ������
��              –  (1 �
���). 
"� ���������, �
 ABCD 
 ��	� ���, �
 AD AB=   �   
AC 
 � ��������$� �� BAD�      – (1 �
���)

(�� 
���) 
�
�� � 
 ��
�
����� ����� �� ��� ������
 �� ��	��. 
%� ��� �� = � � ��
�����
��� ������ �����
  
���� ������ � D � ��D �� 
������. – (1 �
���)
�� ���� � �� �! – � ��������$� �� DAB�   
��
��� HAD DAC CAB= =� � � . –  (1 �
���) 
%�� ���� 180HAD DAC CAB+ + = °� � � , ��  

60HAD DAC CAB= = = °� � � � ABC� 
 ����������
� –    (1 �
���)
 (��� 
���) 

&� �
����	 ��������� �� �������� �� ��	�� � a.  %� ��� � AC a= . 
!�� =CM x , �� = = −DM CN a x � =BN x              – (1 �
���). 
%� ��� ≅� �ABN ACM                                                    – (1 �
���),  
�����
�� =AN AM � =� �BAN CAM                        – (1 �
���). 
��
�����
��� 60= + = + = °� � � � �MAN CAM CAN BAN CAN  (1 �
���). 

(�V 
���) 
'
���, �
 ���� ������� AMN 
 ����������
� � 60= °�AMN  (1 �
���). 
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���� �

�����	� �� ���������� ����
�� �
�
��
��. 
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��� (���
��� � � ��) �� �
���
�� �� �
��
��, �� �
 
 ����
��� �
�
�
��
�� ��(���� ���
����� (��� ���������
�� �	), �� �����
����� 
��� (��) ��� (���) �
�
�
��
�� �
 ��
���� � 1 �
��� ��-	���� �� ������ ���� ����� 
� 
����. 

�V 
��� �
 ��
���� �

�����	� �� ��������� � �
������� �� �
�����
 ��� �� � ���

��� (���#���
��� � ��� �
 �������). 
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– (1 �
����
���))
DABB�   

–  (1 �
����
���) )
1800AB = °°18080AB , , ����  

60°0 �� ABCC�� 
 ���

� ���� ���������������� ���� ��
M CN a xCN a x= = −= − ��

ACM                                 
AMAM= � ��BAN =

��� � ��MANMAN �=
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